3.8 HW p. 218 #11-35ODD SOLUTIONS
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Find each union or intersection. Let A = {1,3,4}, B
‘whole number less than 9}, C = {2,5,7, 10}, and D
‘whole number less than 10}.
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1. AUC={1,2,34,5710}
12. AUD={1,3,4,5,7,9}
13.8UC=1{0,2,4,5,6,7,8,10}
14.8UD=1{0,1,2,3,4,56,7,8,9}
15.CUD={1,2,3,57,9,10}
16. AN B = {4}

12.ANC=0
18.AND = {1,3}
19.8N0C= {2}

20.8ND=0
21.CND = {57}
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Draw a Venn diagram to represent the union and intersection of these sets. ® See

22. The letters in the words ALGEBRA, GEOMETRY, and CALCULUS are represented by

thesets V = {A,L,G,E,B,R}, W = {G,E,O,M,T,R, Y}, and X = {C,A,L,US},
respectively.
23. Let E = {x| xisapositive, composite number less than 10}, F = {1,2,4,5,6,8,9},

and G = {x| xisa positive, even number less than or equal to 10}.

24. LetL = {A,B,C,1,2,3, horse, cow, pig, M = {~1,0,1,B,, pig, duck, A}, and
.3, duck, A}

25. Camping Twenty-eight girls went camping, There were two main activities: 49 See |
volleyball and swimming, Fourteen girls went swimming, 5 participated in both
5, and 4 girls did neither. How many girls only played volleyball?

26. Winter Sports A ski shop owner surveys 200 people who ski or snowboard. If
196 people ski and 154 people do both activities, how many people snowboard?

Solve each inequality. Write the solutions as either the union or intersection of 4 Seel
twosets.

27. |3x —
30.3= |5d+ 11 3t2x-7(>2 32. (450 15 =12

8 s<ne7=2 29. Jow 1] =

Find each union or intersection. Let W = {5,6,7,8}, X = {3,6,9}, ¥ = {2,3,7,8},
and Z = (x| xis an even whole number less than 10}.
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33.WUYUZ=1{0,23,4,56,78}
3. XNYNZ=8
35.Wnxnz= {6}




